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1/2
&4 <Model Name) (AE!)/\fa—4<MEMORY HiCORDER> )
% % <Model Number> ( 8808-50 )
HE &S <Serial No.> ( No.090812080 )
R £ A B<Test Date> ( 2009-08-20 )
<YYYY-MM-DD>
BE F{H<Test Conditions> ( 24.6°C, 55%rh )
#gE<Function>
No. | I8 B <ltem> | #5 B <Result>
1.71) > BZ<Printer>
-1 AYR 7w F<Head up> ( PASS )
—2.R—/\—I 2 F<Paper end> ( PASS )
2139954 FF w4 <Back light check> ( PASS )
3. 2L ITF Ty I<Self check>
-1.ROM,RAMF v 7<ROM,RAM check> ( PASS )
-2. )2 BF 1y4<Printer check> ( PASS )
-3.3— LED Fxv%<Keyboard check,LED check> ( PASS )
-4 LCDFxyI<LCD check> ( PASS )
4. #HE<Function>
-1.T—2AN—, [EfathHE<Data storage, Compression> ( PASS )
-2.0Yvy 9T —%A<Logic data> ( PASS )
-3.%=a7J)Lk)FH<Manual trigger> ( PASS )
-4 M) —R<Trigger source> ( PASS )
-5.TRIG OUTKTRIG OUT> ( PASS )
—6.EXT TRIGKEXT TRIG> ( PASS )
7. B[ #h#5 B <Time base> ( PASS )
-8.B55t<Clock> ( PASS )
-9 PCH—KFxv9<PC card check> ( PASS )
-10.3= B B E<Battery charge> ( PASS )
-11. 5 K ¥ <Square wave characteristic> ( PASS )
-12.[8 R ¥ 5E <Frequency characteristic> ( PASS )
“-13. 7 FIT) T2 J4)L3<Anti-aliasing filter> ( PASS )
-14.0— /XA 74 JLB<Low—pass filter> 5Hz ( PASS )
500Hz ( PASS )
2 & $#5E<Overall Result> BE & nspected by> & B E <{Approved by>

( PASS ) (

)

(

)
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2/2
&4 <Model Name> (AE!) 7\ 22—4 <MEMORY HiCORDER>)
J% % <Model Number> ( 8808-50 )
8% & 2 <Serial No> ( No.090812080 )
BELEH B<Test Date> ( 2009-08-20 )

<YYYY-MM-DD>

BB > | SER S A EE * A {E<Measured Value>
<ltem> <{Range> {Test Point> | <Tolerance> CH1 | CH2 | CH3 | CH4
DCIRIEHEE<DC Amplitude Accuracy>
10 mV/DIV 100mV = 050mV ( 100.00 mV)( 100.00 mV)( 9994 mV)( 99.94 mV)
20 mV/DIV 200mV =+ 1.0mV ( 2000 mV)( 2000 mV)( 199.8 mV)( 2000 mV)
50 mV/DIV 500mV =+ 25mV ( 5000 mV)( 5000 mV)( 4997 mV)( 5000 mV)
100 mV/DIV 1V &= 0.005V (1.0000 V)( 1.0000 V)( 09994 V)( 1.0000 V)
200 mV/DIV 2V %= 0010v ( 2000 V)( 2000 W)( 1999 WV)( 2000 V)
500 mV/DIV 5V £ 0025V ( 5000 V)( 5003 V)( 5000 V)( 5003 V)
1 V/DIV 10 V £ 0050V ( 10000 V)( 10000 V)( 9994 V)( 10000 V)
2 V/DIV 20V = 010V ( 2000 V)( 2000 V)( 1999 WV)( 2000 V)
5 V/DIV 50 V =% 025V ( 5000 V)( 5000 WV)( 4994 V)( 5000 V)
10 V/DIV 100 V %= 050V ( 10000 V)( 10000 V)( 9994 V)( 10000 V)
20 V/DIV 200 V =+ 1.0V ( 200.1 V)( 2001 V)( 2000 V)( 2000 V)
50 V/DIV 450 V =+ 25V ( 4506 V)( 4506 V)( 4506 V)( 4509 V)
100 V/DIV 450 V =+ 50V ( 4506 V)( 4506 V)( 4506 V)( 4513 V)
IHE |L>P<Range>| HES A * jf| 5 {E<Measured Value>
tem>| fRETEIERE | (Test Point>| <Tolerance>
<{Frequency> CHt | cH2 | CH3 | CH4

EFh{EIRIEFERE<RMS Amplitude Accuracy>
5 mVr/DIV  50mVrms 50%0.90mVrms ( 50.01 mV)( 5001 mV)( 4998 mV)( 50.01 mV)

50Hz 50Hz (FE A K) <Fundamental wave>

5 mVr/DIV  50mVrms 50=%1.65mVrms ( 4956 mV)( 4940 mV)( 49.33 mV)( 49.66 mV)
65Hz 26kHz  (40:R)<40th degree>

2 Vr/DIV 20 Vrms 20+045Vrms ( 2000 V)( 2000 V)( 1999 V)( 2000 V)
50Hz 50Hz (A K) <Fundamental wave>

2 Vr/DIV 20 Vrms 20%+075Vems ( 1983 V)( 1976 V)( 1974 V)( 1987 V)
65Hz 26kHz  (402R)<40th degree>

& <Note>

* FAIL¥IE&ERIL. FL—FRELTLVET , <FAIL decision points are highlighted in gray.>
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